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Winter Subtraction

Solve the following word problems.

Anna made 5 snowballs. She threw 2 at her friend.
How many snowballs does Anna have left?

Elsa had 5 snowflakes in her collection. She gave 1
to her sister. How many snowflakes does Elsa have
now?

Sven had 4 pieces of firewood. He used 1 piece to
light the fire. How many pieces of firewood does
Sven have left?

Lucy has 3 candy canes. She eats 1. How many
candy canes does Lucy have left?

There are 5 icicles hanging from the roof. 3 fall
down. How many icicles are left?

There were 3 sleds in the yard. 2 were used by the
children. How many sleds are left in the yard?

Olaf had 5 carrots for his nose. He lost 1. How
many carrots does Olaf have now?

There are 5 reindeer in the field. 2 run away. How
many reindeer are left in the field?

Liam has 5 Christmas ornaments. He gives 3 to his
friend. How many ornaments does Liam have left?

10 A penguin had 4 fish, but it ate 2 of them. How

2= many fish does the penguin have now?
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